
 

 

 

 

Level 1 Commerce RAS 2023 
92030 Demonstrate understanding of how 

interdependent financial relationships are affected 
by an event 
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Subject:  Commerce 

Standard:  92030 

Total score: 04 

Q Grade 
score Marker commentary 

One A4 

The candidate correctly described two interdependence scenarios 
and described one incorrectly. 
The interdependence of the whanau and roading contractor was 
not correct because the candidate added a third party 
(Government) to their answer. The more obvious, and correct, 
answer is the employment link between the two sectors  
The interdependence of the bank and roading contractor was 
correct because the candidate stated the need for the contractor 
to use the bank, and the bank to earn revenue from the roading 
contractor. 
The interdependence of the local businesses and the whanau was 
correct, though weak. The candidate stated the need for the local 
businesses to have the whanau purchase from them and the 
whanau needing the local businesses for goods / services and 
employment. 
The candidate correctly described a direct effect on the roading 
company – the extra income earned from increased investment by 
the Government. 
The candidate would have reached Merit had they explained  
flow-on effects correctly and how those flow on effects might 
impact on the interdependent relationships. 

 


